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Instructions 

· The question paper consists of 6 questions.

· Answer all the questions.

· Answer section A on the answer sheet provided AND section B on folio sheets. 

· Rule off after each question in Section B.

· A non-programmable calculator may be used.

· Number the answers correctly according to the numbering system. 
· A Data Sheet is provided for your use.

· LO 2,3  AS 1,2 ,3

_________________________________________________________________________
SECTION A

- Answer on the answer sheet -

QUESTION 1: One-word questions

Give one word/term for each of the following descriptions. 
1.1
The rate at which velocity is changing.






(1)
1.2
The distance between two consecutive points in phase.



(1)

1.3
Particles from the atmosphere become ionized and radiate light.


(1)
[3]

QUESTION 2: False Statements

CORRECT the statement by writing down ONLY the incorrect section correctly.

2.1
The acceleration of an object moving along a straight line can be determined

by calculating the area under a velocity versus time graph. 



(2)

2.2
In a standing wave, a node is an area of maximum displacement.


(2)

2.3
The earth has two different sets of magnetic poles. The North pole is supposed 
to be called the South pole.







(2)
[6]

QUESTION 3: Multiple choice

Four possible options are provided as answers to the following questions.

Each question has only 1 correct answer. Choose the correct answer and make a

Cross (X) over the letter (A – D) next to the relevant question number (3.1 – 3.3)

1.1 Which one of the following combinations will be a correct classification of speed 

and displacement as scalar or vector quantities?

	
	Speed
	Displacement

	A
	scalar
	scalar

	B
	vector
	scalar

	C
	vector
	vector

	D
	scalar
	vector


3.2
When considering an incident pulse moving from a THICK rope to a THIN rope, at    the boundary between the two, the following will happen.
A.  The reflected pulse is inverted; the transmitted pulse is not inverted.


B.  The reflected pulse is not inverted; the transmitted pulse is inverted.
 
C.  The reflected pulse is not inverted; the transmitted pulse is not inverted
.
D.  The reflected pulse is inverted; the transmitted pulse is inverted.
3.1 The correct set of formulas, symbols and units is represented by
	
	Formula 
	Selected symbols
	Units 

	A
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I

V

=


	V = volts,  I = current strength
	volt, ampere, ohm

	B
	
[image: image2.wmf]W

Q

V

=


	Q = charge, W = work
	joule, coulomb, ampere

	C
	
[image: image3.wmf]VQ

W

=


	Q = charge, W = energy
	joule, volt, coulomb



	D
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I

Q

=


	Q = charge,  I = current strength,            t = time
	seconds, ampere,  coulomb


[ 3 x 2 = 6 ]

SUB – TOTAL: 15
SECTION B

QUESTION 4 ( Mechanics)
4.
An athlete running a race, accelerates uniformly from rest to 10 m.s-1 for 4 s,  and then runs at a constant speed in the same direction for a further 6 s.

4.1
Calculate the acceleration of the athlete for the 4 s.




(4) 

4.2
Draw a rough, but neat velocity-time graph of this motion.



(3)

4.3
Using the graph in 4.2 , how would one determine the following:

4.3.1
the displacement of the athlete. 





(2)

4.3.2
the average velocity over the 10 s period.



(2)

4.4
While travelling on a straight road, a car halves its initial velocity when it accelerates    

           uniformly at 3 m.s-2 for 5 seconds.

Determine in terms of v, the distance he covered during the 5 seconds?

(4)












         [15]  

QUESTION 5 (Waves, Sound and Light)
5.1
What are the conditions which are needed for Total Internal Reflection

(2)

5.2
 Draw both Pulse Length and Amplitude on one diagram.
 


(3)

5.3 A 20m length of rope was used in order to create a standing wave. The number of half wavelengths of this standing wave was n = 10. The time taken between each crest of this wave was 0.5s. Using this information, calculate the following:
a) The wavelength of the standing wave.






(3)
b) The frequency.









(2)
c) The speed of the wave.                                                                                     
(2)

 
5.4
 List the properties of an image formed by a CONVEX mirror                                  (3)












         [15]  

QUESTION 6 (Electricity and magnetism)
6.1
Give a definition for the following:

6.1.1
Magnetic field









(2)

6.1.2
Potential difference









(2)

6.2
Describe, by using sketches and explanations, how you can electrostatically charge a graphite coated polystyrene sphere negatively by using a negatively charged ruler.  Refer to and indicate movement of charges.





(3)

6.3
A current of 4,5 A moves through a resistor. How long will it take a charge of 
100C to move through it?








(4)

6.4  
Consider the circuit diagram below and answer the question that follows:


[image: image5]
6.4.1
Give the letters that should be in the place of (a) and (b)



(2)

6.4.2
For this circuit, give a formula to calculate the potential difference.


(2)













         [15]  
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